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QUESTION 1

You have recently installed and set up a new NetApp HCI deployment in your data center that consists of four compute
nodes and four storage nodes. Inside this HCI deployment, you are using ONTAP Select for file services. You must
protect the data inside the ONTAP Select VM in case of a rack failure. 

Which two methods would accomplish this task? (Choose two.) 

A. Replicate the volumes using SnapMirror from inside the ONTAP Select VM to an existing ONTAP cluster. 

B. Enable FabricPools in the ONTAP Select instance. 

C. Replicate the SVMs from inside the ONTAP Select VM to an existing ONTAP cluster using SVM DR. 

D. Using SolidFire real-time remote replication, replicate the hosting volumes to an ONTAP cluster. 

Correct Answer: CD 

 

QUESTION 2

A customer wants to change a SnapMirror replication schedule to update more frequently. They have 25 GB of data per
update to be replicated along a single 1 Gbps Ethernet link. 

In this scenario, what is the minimum amount of time required between SnapMirror updates? 

A. 20 minutes 

B. 200 minutes 

C. 3 minutes 

D. 5 minutes 

Correct Answer: A 

 

QUESTION 3

You are maintaining a 4-node MetroCluster. 

How are the high-availability interconnects cabled? 

A. Each high-availability pair controller is cabled to its local partner. 

B. High-availability interconects between the nodes are not needed. 

C. High-availability interconnects are only needed for the remote connections between the nodes. 

D. High-availability interconnects are cabled both locally and remotely between the nodes. 

Correct Answer: C 
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QUESTION 4

You have deployed the DP_Optimized (DPO) license on the destination cluster to support a high number of volumes
and peer relationships for setting up data protection with multiple source clusters. You want to obtain a list of
unprotected volumes on the source cluster and protect them. 

Which two management tools would be used to accomplish this task? (Choose two.) 

A. ONTAP CLI 

B. OnCommand Insight 

C. OnCommand System Manager 

D. OneCollect 

Correct Answer: AC 

 

QUESTION 5

Which two policies would allow an administrator to configure disaster recovery and archiving in the same destination
volume? (Choose two.) 

A. MirrorAllSnapshots 

B. MirrorAndVault 

C. Unified7year 

D. MirrorLatest 

Correct Answer: BC 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2811525 
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